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1. Study the flow chart below.
Living Thing
Does it lay No . A
eggs? o
Yes
A 4
Does it have No N
wings? - 8
Yes
A 4
Cc
Which one of the following best represents A, B and C?
A B C
(1) Frog Doiphin Penguin
(2) Platypus Frog Bat
(3) Dalphin Platypus - Housefly
(4) Whale Bat Penguin
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Four pupils, Alan, Bob, Carl and David, each stated a characteristic of an insect.

Cari : Allinsects have a head, thorax:and abdomen.
Bob : All insects reproduce by faying eggs..
Alan : All insects have wings.

David : All insects have 6 legs

Which of the following pupil(s) hasfhave stated the characteristic(s) of an insect which
make(s} it different from the other groups of animais?

(1)  Alanonly:

(2)  Car and David only.

{3) Bob, Car and David only.
(4)  Alan, Bob, Cari and David.

The following chart provides incomplete information about living things, P and Q. The
characteristic, R, is missing from the chart. .

Does it need Isita Does it
food, water | y.o micro- No | makeidts | vag
and air for »  organism? -+ own | Grass
survival? food?
1Yes No
h 4
P
No
R . Q
Yes
!
Human
Which of the follow correctly represents P, Q and R?
P R . Q
(1) Tree ferm | Does it feed on dead matter? Mushroom
(2) Bacteria- | Does it move from one place to another? Mushroom
3 Yeast Does it reproduce by spores? Tree Fern
{4) Yeast Does it respond to changes in the surounding? | Snail
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Jenny conducted an experiment to investigate the condition affecting the rate of
reproduction of bacteria. She prepared 2 identical set-ups of agar plates using
pefri dishes. Each set up contained similar quantity of bacteria X.

Set-up A was placed in a dark incubator at a temperature of 35°C. Set-up
B was placed in the refrigerator at a temperature 5°C without any light
source.

DAY 1

Set-up A Set-up B

Jenny observed the 2 set-ups 2 days later and recorded the results as
shown in the diagrams below.

Set-up B

Which of the following is most likely to be the conclusion which she can draw on
the reproduction rate of bacteria?

)
(2)
(3)
(4)

Bacteria reproduce at a faster rate without light.
Bacteria reproduce at a faster rate in 2 warmer environment.
Bacteria reproduce at a faster rate in a cooler eénvironment.

Bacteria reproduce at a faster rate when there is more food.
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5. Study the concept map below.

Organism W Makes its own food

Reproduces from spores

Which of the following can be Organism W?

A Begonia

B Bird's nest farn
C Moss

D Pineapple

{1} B only’

(2) B and C only
(3) Aand D only
(4) A, B and D only

. Inthe life cycle of a butterfly, the young eats and grows rapidly at the
stage.

(1) egg (2) larval

(3) pupal @) aduit
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lrene has been observing an animal, X, for the past few months in a clear glass
tank.

Animais

i 1
Three stage life cycle Four stage life cycle

l

Egg laid in water Egg laid on land Egg laid in water || Egg laid on fand
X

Which of the following animals is/are likely to represent Animal X7

A Frog

B8 Chicken

C Cockroach

D Grasshopper
(1) Aonly (Z)y CandDonly
(3) A, BandDonly {4) B, Cand D only
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8. John wanted to investigate if air is required for seed to germinate.

A) (8

. oil

— water

- L. wet soil -} dry soil

(©) | ©

=" waier

wet soil

T wet soil

sead seed

Which two set-ups should he compare i T to draw a correct conclusion?

(1) A and B only
(2) A and C only
{3) B and C only
(4) B and D only
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Based on the information above, answer questions 9 and 10.

The diagram below shows Ryan's family tree for the inherited
characteristic of detached earlobes.

P B0
J O .
o =

Ryan

male with attached . male with detached
earlobes eatlobes

O female with aftached female with detached
earlobes

earlobes

How many members of Ryan's mother's side of the family have
attached eariobes?

(1)
2)
3)
(4)

o b~ owoN
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10. Which of the following statements are frue?

11.

A

8
C
D

M
(3)

Ryan’s uncle has detached earlobes.
All of Ryan's siblings have detached eariobes.
Two of Ryan’s grandparenis have detached earlobes.

Only males can inherit the characteristics of detached
earlobes.

A and B only (@ AandConly
B and C only (4) A, Band C only

The diagrams below shows the reproductive systems, X, Y and Z of some
arganisms.

Which statements about the reproductive systems X, Y and Z are correct?

Fertilisation can take place within X.
Y and Z contain the female reproductive cells.
Z contains both male and female reproductive cells,

B only (2) AandBonly
8 and C only (4) A, Band C
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12.  The diagram below shows a certain stage in the human reproduction process.

part S of egqg
sperm

Which one of the following statement correctly describes the function of part
57

(1)  Part S contains the genes of the male sex cell.

(2) Part S helps in the pollination of the male sex cells.

(3) Part S helps the male sex celf to swim to reach the gqa -

(4)  Part S helps the sperm to take in oxygen during fertiusation.

13.  While walking in a park, Vanessa observed a specimen as shown in the
diagram below. '

How is the above fruit of the plant most likely dispersed by?

(1) water
{2) mud
(3) animal
(4) splitting
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14.  The diagrams below show the longitudihal section of two types of flowers, X
' and Y. '

Flower X FlowerY

Flowers X and Y have female parts

Flowers X and Y have one ovule. ]

Flower X does not need to be pollinated to develop into a frug
Flower Y does not need an agent of pollination

cOom>

Which of the following statemenits is/are correct about the flowers X and Y?

(hAonly (2) A and B onty
{3) C and O oniy (4) B and D only
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15. Jean dropped 2 angsana seeds, X and Y, as shown in the diagram below, from
the same height.

Angsana seed X Angsanaseed Y

She recorded the time taken by each seed to reach the ground. Which of the
following is most likely to be the correct set of records?

X Y
{1) 3.4 sec 4.5 sec
{2) 4.5 sec 4.5 sec -
{3} 4.5 sec 3.4 sec
(4) 4.5 sec 9.8 sec
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16.  Study the flowchart shown below about plants P, Q, R, Sand T.

Start
F 3
Can the fruit 1s the fruit Is the fruit
float? No | edible? No .| tightweight? L@
Yes Yes

Y

Does the fruit have | Mo
hooks?

Which of the above plants have fiuits that are dispersed by animais?

(1Y <QandR only {2) R and S only
(3) P.Sand T only {4) P, Q and R only



17.  Study the flowchart below.
Organism
Animal cell Plant cell
A Contain chloroplasts Does not contain
chloroplasts
B
What is A, B and C? C
A B Cc

(1} Bacteria Cheek cell Leaf cell
2) Leaf cell Root cell Bacteria
3 Cheek cell - Leaf cell - Root cell
{4) Sperm cell Root cell Onion skin cell
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18. A plant cell was placed in a fiquid containing substances X and Y. After a few
hours, this is how the piant cell looked like as shown in the diagram below.

Before
X Y X Y Y
X
Y X
Y Y Y
X Y X Y

Y X Y X Y

Container A

Aftera-few-hours; this-is-how the-pltant-celHooked-like-as-showrrin the

digaram below.
After
x ¥V ox Y x
Y Y
¥
Y X
X Y v
Y
Y
x vy X ¥
X
Container A

Which part of the cell is responsible for the observation above?

(1) Cell walt

(2) Cytoplasm

(3) Chioroplast

{4) Cell membrane
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19.  The flow chart below shows the different properties of materials A, 8, C and

D.

Is it waterproof?

Yes

A

INQ

Material B

is it strong?

No

> Material A

Yes

h 4

is it flexible?

Y
LIS o Material C

[

Material D

Based on the information above, which one of these materials, A, B,CorD,is
suitable to make a water hose to water plants in a garden?

n A
3 C

2y B
4 D
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20. The diagram below shows a cooking potwith different parts labelled A, B, C
and D.

The table below shows four different materials W, X, Y and Z and their properties.

Material Properties
. w __[ Allows most light to pass through
X Does not allow most light to pass through
Y Allows heat to flow through easily o
z Does ot allow heat to pass through easily

Which one of the following shows the best material to be used for each part of the

cooking pot?

Part & PartB PartC Padb
(1) Y X Y z
@) Z W z Y
(3) R Y Y X
(4) W ‘ z z_ W

<
53
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21.  Which one of the following shows the correct state of matier at room

temperature? ’
Solid : Liquid
1) Flour . Water vapour .=
(2 Sponge ’ lce
(3 Cheese ‘ Sand
(4) Stone i Oil.

22.  The picture below shows a sponge.

The table below shows the mass of the sponge before and after it was soaked
in a basin of water.

_Mass of sponge (before) Mass of sponge (after)
50g 200g

The mass of the sponge increases because

(1) water can be compressed

(2) water has no definite shape

(3) the sponge has a definite shape

(4) water takes up the space in the sponge
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23. The diagram below shows the water cycle.

Clouds

X Evaporation

Based on the diagram above, which one of the following is correct?

w X Y
(1) Water vapour Lake Rain__
(2) Lake Water vapour Rain
(3) Rain c Lake Water vapour
{4) Lake Rain Walter vapour
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24.  Jack could not remove the lid from a bottle, which is at the room temperature
of 23°C.

lid

N/ )

In which container of water should he place the lid in so that it can be
removed most easily?

(1) (2}
water at 90°C water at 70°C

3) (4)

fage 19 of 41
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256.  The diagram below shows two containgrs, A and B, containing the same
amount of water, placed over a hot stove. The two containers are similar in
size and thickness. -

Container A .. Comtainer B

follawmg shows the correct amot of water remalmng in the containers after
20 minutes has passed?

(N

Container A Container B

stove
(2}

Container A Container B

stove

&) "

Container A Container B

stove

(4)

Container A Container 8

stove
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26. The diagram below shows seawater being heated in flask A. After 5 minutes,
substance X is found in flask B.

n tap water retort stand

themometer

flask A ——
seawater
flask B
pebbles
X
tripod stand 4
Wooaden
bunsen - —— bilock
burner \
P { 3

Based on the diagram above, which process(es) is/are responsible for
substance X being formed?

(1) Boiling only

(2) Evaporation only

(3) Condensation only

(4) Evaporation and condensation
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27 The diagram below shows a lamp placed at position B and Object X placed
at position £. When the lamp was switched on, a shadow was cast on the

screen.

- Screen

Which one of the following arrangement would cast the largest shadow on the

screen?
Position of lamp Position of object X
N G G
2 B H
(3) E F
(4) A B
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28.

-~
andy
et

Length of shadow{cm)

—
7%

Length of shadow{cm)

.
»

[
o

Sally noticed that the iength of the shadow of flag pole changed as the day
progressed. The diagram below shows a flag pole and its shadow

at a certain time of the day.

Flag pole

Shadox\

= A

Which one of the following graphs shows the correct change in length of the
flag pole’s shadow between 7 am and 7 pm?

@

P
»>

Length of shadow{cm)

r

I

7 am 7 pm

)

Time 7 am 7pm  Time

(4)

.
>

Length of shadow{cm)

7 am 7 pt

Time - ’ Time
7 pm

~
QU
3
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29. Rita heated a beaker of water over a flame for a while before it was lefton a

table in a room. The graph below shows the change in temperature of the
beaker of water over a period of 40 minutes.

F 3

Temperature B c
(°C)

] 1
5 10 15 20 35 30 35 4o
Time {minutes)

Which one of the following statements is correct?

(1) The water lost heat to the surrounding air from point G to D.
) The water gained heat from the flame only during the first five minutes.
3 The heat source was removed from the beaker of water at the fifth minute.

(4)  The time taken for water to reach room temperature from boifing point is
about 25 minutes.
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30. Betty held a setup in her hands, as shown in the picture below.

glass tube

/
h// liquid X

stopper

flask

After holding the flask tightly for a minute, she noticed that a droplet of liquid X
moved up the glass tube.

What caused liquid X to move up the glass tube?

(1)
(2)
(3)
(4)

The flask lost heat to the hand and contracted.

The air in the flask gained heat from the hand and expanded.
The glass tube lost heat to the surrounding air and contracted.
The liquid X gained heat from the surrounding air and expanded.
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Name: fndex No: Class: P§
SECTION B (40 marks)
For questions 31 to 44, write your answers clearly in the spaces provided.

The number of marks avallable is shown in brackets [ ] at the end of each question or
part question. .

31.  Steve camied outan experiment using organisms A. 30 organisms A were put in
the middle of dish X. After 1 hour, the number of organisms A in each section of
Dish X was counted.

He repeated the experiment replacing Dish X with Dish Y and Dish Z
respectively using the same group of organisms A.

S—— dark
Organisms A

'} Organisms

R U Lo-u ey

Org?misms A . light
| .-Dish Y
damp and dark dry and dark
damp and fight ... dry and light h
Dishz
(a) Based on the observation in Dish X and Y, what characteristic of fiving

things did Organisms A demonstrate? 1]

(b) Name the area of Dish Z where most Organism A would be found after 1
hour. 1]
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32.  Study the classification diagram as shown below carefully. Each animal is

represented by a letter, D, £, F, G and H.

Animals

Lay eggs

|

Adults have hard

outer covering
called
exoskeletqn

Adulls have outer
covering of hairs

Give birth to young

Young
resermnbles
parent

1

Young does
nof resemble
parent

(@)

(b}

(©)

Adults have hard

Adults have outer

outer covering covering of
called scales
exoskeleton
G A
Py

Which letter, D, E, F, G and H, would 4 beetle belong to? -

s

Which animal(s), D, E, F G or H is/are mamimals?

(1]

a difference between animals F and H.

Based on the information provided in the classification chart above, staie

(1

I*age 27 of 41
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33.  Study the diagram below carefully. The letters, A, B and C, represent the parts
of this plant. '

(@)  Which part of the seed, A, B or C, provides food during germination? (1]

The diagram below shows the growth of a seed and its stages, V, W, X, Y
and Z,

(b}  Atwhich stage(s) can the seedling start to make its own food? Give a _
reason for your answer. [2]

Score 3
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insects X and Y are agents of pollination.
insects X have a good sense of smell but cannot recognise the colour red.

insects Y, on the other hand, have a poor sense of smell and have no problem
recognising the colour red.

Luke went into his garden and made the following observations:

Plarit - - Observations
Flowers are bright red.
A Many insects X are seen flying around the flowers.
Flowers have huge, red petals.
B Many insects Y are seen flying around the flowers.
Flowers are red and tiny.
C Many insects X and Y are seen flying around the flowers.

Based on Luke's observations above, put a tick (v') in the appropriate boxes
below to indicate whether each of the flowers is sweet-smefling, odourless or
not possible to tell. '

@

“Not possible |

Floweris of Plant A

sweet-sme!ling{ Qdourless

fo tell

Flowers of Plant B

Flowers of Plant C

Page 29 of 41
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. 35, The following table shows the comparison between sexual repreduction in

humans and in flowering plants.

Complete the table below by writing the correct word in each blank 2
Humans Flowering plants

Where female sex

cell is produced Ovary Ovary

Where male sex " Anther

cell is produced @i___
After fertilisatlon ATstus will develop in The (Wi will

the (a)il develop ifito A (4
Score 2
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36.

Study the physical characteristics of the fruits from Plant X, Y and Z below.

Fibrous husk

Seeds
&
Hooks «
Fruit of Plant X Fruif of Plant Y’ Fruit of Plant Z
A o ° A
O
o [= I+ ]
o Q
[+ 3
A
[+ ]
A
o 0 O
A

The map above éhows the distribution of Plants X, Y and 2

reprosented by the symbols

(a) Which of the following symbols most likely represents Plants X ¥ or Z?

[

i O: (i) A -

(b) Plant Y disperses its seeds by splitting open when it is ripe. What is the
disadvantage of such method of seed dispersal compared to the other
methods? [1]

(c) How dbés thaé physical thatactenstic of the fruit of plant Z help during seed
dispersal? (1

Score 3
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37.  The diagram below shows 2 cells, A and B. Cell B has a certain part
removed from it as shown below.

nucleus
Ceoll A CellB

(8) Which cell is not able to perform cell division? Give a reason for your
answer. - i1l

The diagram oelow shiows A Sen aken from a nTango tree.

cell membrane
Pl

2 _

cytoplasm

From the diagram abave,

(b)  Which part of the mango tree is the cell most likely taken from? [1]

(c) s the cell shown above capable of tmaking food for the plant? Give a
reason for your answer. {1

Page 32 of 41
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38.

Mr Tan plans to install a blind at the baicony of his new apartment. There are no
windows installed at the balcony but there are iron grilles instead. The intended
purpose of the blind is fo cut down the glares from the sun and yet allow the
house to receive some natural fight. The blind must also be able to withstand
windy and rainy weather.

iron grille

Front view of baicony

The table below shows the properties of Materiat A, B, C and D respectively.

Transparent | Translucent | Waterproof Strong
Materiat A
Material B { v
Material C v v V
Material D vV N

(@)

{b)

Based_\table above, which materials, A, B, C or D, is most suitable to
make into the blind that serves the purposeSstated? Give a reason for
your answer. 2]

Mr Tan's neighbour remarks that iron is not suitable to make into window
griles in humid climate as it rusis easily. Rusting of iron happens when
the iron comes in contact with oxygen and water.

Suggest what can be done to the iron grilles to prevent it from rusting.
Give a reason for your answer. [1]

Score

W
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39. Hillary lowered Cup A and Cup B into a tank of water, as shown in
Diagram 1 below.

Cup A - ~y CupB

T

CERnYL N ST T

WS

]

3 1
" 7
Humm b
o "5
- “w ke

Diagram 1

She then slowly tilted Cup A as shown in Diagram 2 below.

Cup A o~y CupB

By g2 =P LI S et K
oo P - Rarky
§ .- e . 1,
H S Ly
it LRz Tt ¥
i = 38 .
if - . - - Y
a4 - B 3
- T
. b
N i
K EE ¥
s 1t ik
A . f E*
[ B X ¢ E:‘
R & 4 8 4 %
4. Kt - it 2 ]
H e & F ooamoc Ty L sy b b
i
"\ FEEE--. . o . - o
............ - i
et 4 W - - o B
P R T e N R e T e T T e I T T R Y

Diagram 2

(a) What would happen to the water levei in cup B?
Give a reason for your answer. [2]

Score
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Continue from Quéstion 39

The diagram below shows an inflated balloon placed over a beaker on one side
of a balance, and object X on the other side of the balance.

balloon

When the balloon was removed, the balance was observed to tilt downwards
towards the side with object X oniit.

(&)

Based on the observation stated, what conclusion can you draw

about the property of air?

(1]

Scora
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40.

Felicia heated two liquids, A and B, of the same volume and in identical
containars over an identical amount heat source at the same time and
plotted a graph as shown below.

100 -
90 -
30 +

L0

£ 60

Ly

5 50

£ o

5§

20 -+
10
0 - - -
i 2 3 4 5 6 7 8 9 10 1 12
Time {min)

{a) If Felicia continued heating the two containers untii one of them
became dry, which liquid, A or B, will still be left in the other
container? 1

(b) Give a reason for your answer in (a). (1

Score | . 2
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41.  Siew Li prepared the following se:t-ups using two containers of the same
mass, each filled with 500 mi of water and two identical springs attached
{0 a retort stand.

C

10-cm spring 10-cm spring

—~ container A contalnec B |

! Set-Uup A ' Set-up B

She left sef-ups A and B near a window for 24 hours. At the end of the

experiment, she noficed & chanae in the length of the springs as shown
below.

9-cm spring r""-ﬂ Iﬁ«cm spring

conlainer 8

conlainer A

Set-up A Set-up B

(a) Based on the above ohservations, compare the length of the springs in
both set-ups at the end of the experiment. {1

(b) Give a reason for your answer in (a). ’ [2]

Page 37 of 41
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42.  Jean prepared a shadow puppet show for her classmates. She made the

puppet cut-out using a piece of cardboard. Her audience, seated on the other
side of the screen could not se¢ her or the puppets made by her.
All they could see was a dark shadow on the screen.

/ >
I—_—:l —_— Puppet Audience
\ .

>

screen

The diagram below shows the shadow cast by the puppet created by Jean,

(a) in order for the audience fo see the shadow of the puppet from
the other side of the screen, what type of material should the
screen be made of? Give a reason for your answer. m

(b)  Explain cledrly hdw the shadaw of the puppet was formed on the
screen.

(2]
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43.  Jenny put equal amount of ice cubes in 2 beakers. She placed one beaker
in the sun and another in the room. The diagrams below show the sat-up of her

experiment.
thermometer /
beaker
ice
Set-up A Set-up B
(in the Suny} {In the room}

She measured and recorded the temperature of the content in each beaker for
10 minutes. She observed that the temperature in both beakers remained at
0°C even though some of the ice had meited.

(a) éi}}Why did the temperature in set-up A not increase when it gained heat
from the sun? (1]

(a) (i) When would the terperature of the content in each beaker start ta
increase? (1

Score / 2
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Continue from Question 43

Peter heated a 300g-iron disc and a 10g-iron disc to 100°C. Then, he transferred
the hot iron discs-into containers A ad B which contained equal amount of
water at room temperature, at the same time.

The diagrams below show the set-ups of Peter's experiment.

@ 200-g disc 20-g disc
(100°C) == (100°C)

water at &
room
-;J)mperaturfak~

Container A Container B

1%k

() In which container, A or B, wouldithe thermometer record a higher
temperature of water after 3 minytes? Give a reason for your answer.  [2]

Score
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44.  Amy hung.two simitar metal balis, Ball X and Ball Y, on a balanced rod. Ball X
was heated as shown in the diagram beiow.

Ball X

(8) Amy predicted that the ball X wilt tiit downward after being heated. Do
you agree with her? Give a reason for your answer. 2]

tmmediately after the experiment, Amy wanted to return the metal balls in the
storage container as shown below. She managed to put Balt Y into the
container but Bail X could no tonger go through the opening of the container.

Ball X

Ball Y

(b)  Give a reason for the above observation on Ball X. ]

-The End -

Score

Setters: Teo RW, Lee fM, Chong SL :
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ANSWER SHEET

EXAM PAPER 2012

SCHOOL : REFFLES GIRLS’
SUBJECT: PRIMARY 5 SCIENCE

TERM .: SA1

Qi Q2 Q3| Q4]q5 Q6 | Q7 | Q8 | Q9 [0Q10 Q11]Q121Q13|Q14{ Q15 Ql6 ) Q17
3 2 2 2 2 2 4 2 2 3 3

Q181 Q19| Q20{Q21] Q22 Q2310241 Q25{Q26 Q27| Q28 Q25 'Q30
4 3 2 4 4 3 1 3 4 4 4 1

31)a)Living things respond to changes,
b)Damp and Dark.

32)a)E.
b)F,
c)Animal F lay eggs but Animal H give birth to young.

33)a)Part B.
b)Stage Y. The young plant in stage Y has leaves which trap
(absorb)sunlight.

34)A: Sweet-smelling.  B: Not possible to tell C: Sweet-smelling

35)a)i)testes iwomb
b)i)ovules/ovary ii)seeds/fruit

36)a))Y ii)X N

b)The seeds would be disperse at the same distance and would land at the
same place, causing overcrowding and fight for sunlight and nutrients.

¢)The fibrous husk contains trap air allows the fruit of plant Z to float on
water,

pagelto 2 page 1



37)a)Cell B. The nucleus helps the cell to perform cell division, the nucleus in
cell B is removed thus, It will not be able to perform cell division.

b)The roots of the mango tree,

C)No, it is not capable of making food. The cell does not have chloroplasts
which contain chlorophyll to trap sunlight for the plant to make food.

38)a)A blind must be transparent that helps to reduce glare, it is waterproof so
that water will not be able to enter and must be strong so if there is a strong
wind the blind would not tear easily,

b)Mr Tan can paint the iron grilles to prevent water and oxygen from’
coming in contact with the jron grills.

water level in cup B to decrease.
b)Air has mass,

40)a)Liquid A, b)Liquid A has a higher boiling point than fiquid B.

43)a)i)The ice had not meilted. ii)After all the ice melted.

b)Container A. The iron disc in container A was bigger and had container
more heat energy than container B that can heat the water faster and record a
higher temperature,

44)a)No. Even though Ball X gained heat and expanded, its mass still does not
change and would not tiit down ward after being heated.

b)Bali X expanded and became bigger thus, Ball X could no longer go
through the opening of the container.
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